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SH: gRMAD
HE: H4SH2Y U NABMEBLS(STHS A /HL2L - OfF)
Sl HASH2Y U AMANHSS CEEEED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
401 Al& Bl & 28I 33,000 25,000 8,000
01 A& HI 33,000 25,000 8,000
OS85 +gBHL &% L 24
10,000, 000& 14 10,000
Otfl+==& NS STM(BICHAIE, SEA, A
AE S) 10,000, 000& 14 10,000
OFEZH==2Z 02t XS &1
3,000,000& =14 3,000
OFEZH+==2F 2 1L 2ZtHE AX
5,000,000 *20H 2~ 10,000
==& AHAXRA o124l XJA<EE> 47,288 47,288 0
< 9,458
Al 37,830
101 @124l 47,288 47,288 0
< 9,458
Al 37,830
M4 IR Z22NSES 47,288 47,288 0
Otff+==s& AH2ERA(02A2R) 47,288
= 9,630 #2A| 2+ x4 H x61 4,700
= 940
Al 3,760
NETEE RS-
9,630 1.5+ 10AI 2H+4H 61 35,246
< 7,049
Al 28,197
=g 77,0002 »4H +8 2,464
< 492
Al 1,972
-AHEE JI2RE3 4,878,000 4,878
< 977
Al 3,901
==& YRR HHANIA<EZ> 18,590 18,590 0
< 3,718
Al 14,872
201 Let24d] 15,468 15,128 340
< 3,094
Al 12,374
01 At 22/l 3,660 7,320 A 3,660
O1.28=2494| 3,660
- AQEH0 R =S (OHEII2)
30,0003 2CH*61 3,660
< 732
Al 2,928
02 2322l 11,808 7,808 4,000
O3. A& ZHI* Xt 4,000
-—=&QEH0 Hd ¥ HE
2,000,000% *2CH 4,000
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SH: gRMAD
HE: H4SH2Y U NABMEBLS(STHS A /HL2L - OfF)
Sl HASH2Y U AMANHSS CEEEED
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
= 800
Al 3,200
O4. Xt BHH| 7,808
- AQEHIO S
1,600 x40¢ =201 61 7,808
=} 1,562
Al 6,246
206 M = dl 3,122 3,462 A 340
&< 624
Al 2,498
01 X2 bl 3,122 3,462 A 340
Ol REXAH 2 3,122,000 3,122
& 624
Al 2,498
Hllicl=HO2 &L SSHINLE XNI<EX> 4,000 7,933 N 3,933
== 3,000
Al 1,000
206 M EHl 4,000 7,933 N 3,933
& 3,000
Al 1,000
01 X2 Hl 4,000 7,933 N 3,933
Odltel=AHIE ¥ S2S MBS
4.,000,000& 4,000
= 3,000
Al 1,000
soHAMA U (sEHLFA/ s - =) 4,984,943 3,558,736 1,426,207
= 88,529
Xl 687,000
J| 17,590
= 596,527
Al 3,595,297
SLESAMASMARR 352,130 267,181 84,949
= 88,529
J| 17,590
= 14,527
Al 231,484
sIIHASI S 172,970 185,780 N 12,810
201 et 9| 6,620 6,620 0
01 AR 2t2l ] 5,616 5,616 0
O1.48t==2H| 3,600
“SUASTE AYEX Qs
1,800,000& 1,800
~=NHSHASY HAROl
90 4= x5, 00004 1,800
O5. 34| 2,016
= YULEM VA2 24
7,000 3 x8 x12& 2,016




SH: gRMAD
HH: AW S SYHS2N/5Y - 58)
Sl SAS A2 ML 2 (S5 &)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
02 3322l 1,004 1,004 0
O1.2223LAHA 1,004
-SXOISAHZAZ2L BEXHE2SA SER
= 1,004
Tt 300& x15024 33| 135
© Sl 1,930& 15024 33| 869
202 oddl 1,800 2,160 A 360
01 = LH o4 1l 1,800 2,160 A 360
OsXOISAEHEZAL HRFE Y|
60,0003 x2H 3 53] 1,800
206 M= Hl 1,000 1,000 0
01 =8l 1,000 1,000 0
Og=Xd &I U (2L 2 28)
1,000, 000& 1,000
402 RIZEX20l A 163,550 176,000 A 12,450
01 2I2EH 2 A B (KM &) 163,550 176,000 A 12,450
OgZLH HMAXNYG H dais SsLH SH
=% B2 161,150
-2 40,000& +1,465ha 58,600
-& A 70,000& +1,465ha 102,550
OUHE=RI=E IHHE XNJAY
80,000 209 31 2 x50/ 100 2,400
HEE3EXJA<EE> 19,500 18,000 1,500
< 1,500
Al 18,000
402 RI2HX=01 M 19,500 18,000 1,500
< 1,500
Al 18,000
02 QI EAISEZ (01X ) 19,500 18,000 1,500
OUEs=E3% 4&EXNE
10,000,000 *3JH 2 50/ 100 15,000
< 600
Al 14,400
OUE=s=3% s 4N X
150, 000:& *60ha*50/100 4,500
< 900
Al 3,600
ELHSH B S AL <E E> 126,470 45,811 80,659
= 88,529
< 8,347
Al 29,594
402 2I2H X201 M 126,470 45,811 80,659
= 88,529
< 8,347
Al 29,594




AN RS0
HH: AW S SYHS2N/5Y - 58)
Sl SAS A2 ML 2 (S5 &)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
02 QI EASEZ (OIS ) 126,470 45,811 80,659
OEZMEM (A&, H3)33
126,470,000& 14 126,470
= 88,529
< 8,347
Al 29,594
sX0l82el X HI<E x> 17,590 17,590 0
J| 17,590
101 14 Hl 16,390 16,390 0
J| 16,390
04 JIZHHZ22XREES 16,390 16,390 0
OsXolgael At 16,390, 000& 16,390
J| 16,390
202 044l 1,200 1,200 0
J| 1,200
01 = LH o4 1l 1,200 1,200 0
OsXolg2egd® =& A 1,200,000& 1,200
J| 1,200
SIHAHAAM2H M E X X J<E E> 3,600 0 3,600
< 1,080
Al 2,520
206 T 24 3,600 0 3,600
= 1,080
Al 2,520
01 =8l 3,600 0 3,600
OsgIIAH td2d X X3
120,000 *30MI E 3,600
< 1,080
Al 2,520
S OIM R X R<E F> 12,000 0 12,000
= 3,600
Al 8,400
206 24 12,000 0 12,000
< 3,600
Al 8,400
01 MHZ 4l 12,000 0 12,000
Od=EFH (EH=E) A
40,000 300K £ 12,000
< 3,600
Al 8,400
oM A BHE A 4,632,813 3,291,555 1,341,258
Xl 687,000
< 582,000
Al 3,363,813
SYMADIBIE Y 1,906, 149 1,556,698 349,451
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SH GRAAD
HH: AW A SYHSLN/5Y - 58)
© sPMAIIBtEA )
SA - BB B () - MM - BES Ol &t o San HmEET
2 et | 26,470 20,470 6,000
AtS 2t el i 26,470 20,470 6,000
O1.get==2Hl 9,950
-SEIIBFRLEAY LB=ZHl  1,800,000& 1,800
SR BEHXSY L AASSLLR
300,000& 202 X 6,000
-SI0IH =2 70,000& x152A 1,050
SSUE AURF FEAM
110,000 1004 2 1,100
O5.=2 &l 2,520
~=edlE AREX AAADLX 24
7,0003 3 ~102 128 2,520
O6.8xt=z 14,000
-sYIIBAIE HHI(EAN SUi=2)&Hl Xt
500,000& »7H x4 14,000
04 i 2,160 2,700 A 540
=L 2,160 2,700 A 540
OsgMaI|Igt =L =8 04l
60,0003 *3H 3 43| 2,160
AEHI &S 1,797,519 1,403,528 393,991
01 A& HI 1,793,000 1,400,000 393,000
O=gIIetAd HHE S 50,000,000& =14 50,000
Osgt==olf CHHl ==clAl&d &EHl
150,000, 000& 14 150,000
OsHMADIIEER L ALY A AIE A HI
50,000,000 » 14! 50,000
Os8 AUBE Nsts ABIA
2,000,000& x64= 128,000
OFEX ¢3el =2 ¥ E+=2 EXSAM
70,000,000& » 14! 70,000
Odg BaX+ s2 ZZ3AM
40,000,000& =14 40,000
O 2Fcl s2 ZEIAM
30,000,000& =14 30,000
Olls Zs-8HXF sgE=3 HLSAM
200,000,000 =14 200,000
OFJl A1l s2 EZHESAM
50,000,000& =14 50,000
O=z0lx= ZAH1el Ei+=2 EX 3 A
30,000,000& » 14 30,000
OFEBE 22 CTEN 52 L 2422 &
=[F=PN; 50,000,000 » 14! 50,000
Odg stHe| 55t 52 LESA
20,000,000 =14 20,000
O2d Jel 52 ZZS A 30,000,000 141 30,000
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SH: gRMAD
HH: AW A SYHSLN/5Y - 58)
Sl S MADIBEY CER-ED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Osdl ddEel =& s2 ZHESA
0,000,000& =14l 40,000
OFI| &at2e] s=2 X SA
50,000,000& =14 50,000
Os0Ix= ZA2el EHi=2 EXISA
30,000,000& =14l 30,000
OFEXZ 232l =2 2 S22 E&XSAM
40,000,000& =14 40,000
OHg 2del s2 ZHESA
30,000,000& =14 30,000
O2& AMiel s=2 ZHISAM
50,000,000& =14l 50,000
Olls g4d22 Et+=2 EX3A
40,000,000& =14 40,000
Osdl =2&22 s2 ZT3AM
25,000,000& =14 25,000
OFI &gl s2EE 2 =2 FHISA
50,000,000& =14 50,000
O30z HE12 E+=2 EXSA
70,000,000& =14 70,000
OFJI L5112l s=2 EX3AM
50,000,000& =14l 50,000
Olls &322 Ei+==2 EX3A
40,000,000& * 14 40,000
OFJII HE22 282 s2 ZTFSAM
50,000,000& =14 50,000
OHg stde| s2 ZHEIA
70,000,000& =14 70,000
O el A2 s2 ZESA
30,000,000& =14 30,000
OREZ AH2e| E+=2 EXSA
40,000,000& =14 40,000
Olls g4d1el s2 HEZTIAM
40,000,000& * 14 40,000
OFEXZ =Hi12l EH+=2 EXSA
50,000,000& =14 50,000
Ols B=cl Etl==2 X 3A
30,000,000& =14 30,000
O=0l= 12 getad EX3A
70,000,000& =14 70,000
03 Al 2 THHI 4,519 3,528 991
OIS HAYE AIZRUHI
1,793,000, 000 *0.36/100%70%< & 2> 4,519
402 RI2EX20| ™ 50,000 50,000 0
01 2I2F 2 A B (REMTH ) 50,000 50,000 0
O=clAH=clAd X2l 50,000,000& 50,000
403 XIS E A0l E 30,000 80,000 A 50,000
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AN RS0
HH: AW A SYHSLN/5Y - 58)
Sl S MADIBIEY CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
02 SJ|1 2SOl CHSH At 2 X O & AF I 30,000 80,000 A50,000
Odg A3M=X E=3 A 30,000,000& 14! 30,000
CAMEHANL (sE=HESEZH )<BE> 984,576 1,294,317 A 309,741
Xl 687,000
Al 297,576
401 Al HI L ROl 984,576 1,204,317 ~309,741
Xl 687,000
Al 297,576
01 A& HI 976,500 1,287,000 A310,500
Ollsd 23 sEMESIZHAY
129,500, 000& 14! 129,500
Xl 90,600
Al 38,900
Olls g8~Bx~EsX 7 sZUESZHHIA
& 150,000, 000& * 14! 150,000
Xl 105,000
Al 45,000
Olls E~EHXNF sZSHESHZHUIAY
100,000, 000& * 14! 100,000
Xl 70,000
Al 30,000
Ols H2A~MAH~MUX 7 sEHESZEHIA
o 300,000,000 =14l 300,000
Xl 210,000
Al 90,000
O=30l= FeUXF sEHSS3THALY & Al
HAHESR 100,000,000 =14l 100,000
Xl 70,000
Al 30,000
O=0lx= UStHiA7 sE4ESIZH ALY
98,500,000 =14l 98,500
Xl 68,950
Al 29,550
O=0l= HEXNF sEdee3TH AL
98,500,000 =14l 98,500
Xl 68,950
Al 29,550
02 Zeltl 5,000 5,000 0
O=0lx2 s, WEXT? sZHESZEHHIA
g As 2Zesd 5,000,000& » 14! 5,000
X 3,500
Al 1,500
03 Al 2 THHI 3,076 2,317 759
SEUEESIIEUAMY AIERUHYI
976,500,000& *0.63/100%50%<& &> 3,076
FU=A s SMADBHEHI<KE £> 381,368 0 381,368
= 190,000
Al 191,368
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A ER4SE
HH: AW A SYHSLN/5Y - 58)
SR SYMAIIBEY (29 a8)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
401 Al& Bl & 28I 381,368 0 381,368
< 190,000
Al 191,368
01 A& HI 380,000 0 380,000
OolY =12l 42 SXZA
80,000,000& =14l 80,000
< 40,000
Al 40,000
O0lY =2 ti+2 SXZA
80,000,000& =14 80,000
= 40,000
Al 40,000
Olls Zsoc| SetadE AXSA
80,000,000& =14l 80,000
= 40,000
Al 40,000
OSth 4Fel BIE 52 IFTA
0,000,000& =14l 50,000
= 25,000
Al 25,000
Osdll (312 s2ZH 2 =2 &
90,000,000 =14l 90,000
< 45,000
Al 45,000
03 AIE 2 0HHI 1,368 0 1,368
OsAMAIBEHIAIY A&
380,000,000 0.72/100%50%<& 2> 1,368
Mol g =2 A FHI<KEX> 200,720 150,540 50,180
= 60,000
Al 140,720
401 Al HI & 28I 200,720 150,540 50,180
< 60,000
Al 140,720
01 A& HI 200,000 150,000 50,000
OFI| BHUES MaHMY =522 A AL
200,000,000 =14l 200,000
< 60,000
Al 140,000
03 AIE 2 0HHI 720 540 180
OFI| BUES MHUY =522 A& FHAY
A& 2 0] 200,000,000 *0.72/100x50%< & 2> 720
2L AT FHI<KE E> 80,000 70,000 10,000
< 8,000
Al 72,000
401 Al& I 28I 80,000 70,000 10,000
< 8,000
Al 72,000
01 A& HI 80,000 70,000 10,000
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AN RS0
HH: AW A SYHSLN/5Y - 58)
el S M ATy (el @2)
SA - BB B () - MM - BES Ol &t o San HmEET
ozd & 2=J| FH 80,000,000 =14l 80,000
< 8,000
Al 72,000
M=XH&&HHI<E x> 20,000 20,000 0
< 6,000
Al 14,000
401 A& HIZ 201 8] 20,000 20,000 0
< 6,000
Al 14,000
01 A& HI 20,000 20,000 0
Oz M=Xl Mg &bl 20,000,000& =14 20,000
< 6,000
Al 14,000
CEEd=XNEHI<E E> 1,060,000 200,000 860,000
< 318,000
Al 742,000
403 A X EHS =0l A 1,060,000 200,000 860,000
= 318,000
Al 742,000
02 SI1 2SO0l CHSt At 2 X CH & AF & I 1,060,000 200,000 860,000
OgY 22X =AM ==X FHA
900,000,000& =14 900,000
< 270,000
Al 630,000
Osot 8k =AM ==X HHAE
160,000, 000& 14 160,000
< 48,000
Al 112,000
YA B AF (SHLAH/ Y - MAE) 3,794,684 3,332,197 462,487
= 256,029
Xl 42,420
< 183,893
Al 3,312,342
At THR 2tel 528,447 651,077 A 122,630
= 105,748
Xl 42,420
< 41,305
Al 338,974
MR SR 2 236,273 288,004 251,731
101 @124l 38,121 44,768 AB,647
04 JI12ZtHZ22EE = 38,121 44,768 26,0647
OA& sAAlE 22l & eIFXel 26,461
-Jl=s 54,5003 x8Y x60 26,160
-AHEE JI2RE3 2,616,000& %11.5% 301
OsoideEMs22(=58H)2 11,660
-Jles 51,7603 x2F 202 x4 & 8,282
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SH: gRMAD
HE: QAW S SYHS /LY - 4E)
CHR: AtE X 22 (2 &HH)
5 - 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
-F=54 51,760 2H x 173 1,760
-AXRsEIIE 51,760) 2 x4 415
-AEE J|I2a82e=2 10,455,520 *11.5% 1,203
201 2Et24Hy| 15,416 15,416 0
01 AP 2t 2] H| 5,556 5,556 0
O1.98t=2H| 1,800
-—=X&8EAE J|EIE=2H| 1,800,000 1,800
O5.2 &l 756
—AMEITIE AR2FR AAZ2X 24
7,000 *3¥ 3 x12& 756
O6.Yx =2 3,000
- A Hl AHH Xt 500,000 x2CH *33] 3,000
02 2224 9,860 9,860 0]
O1.2Z22=22L Al 2,880
-SAEHESESY E2ESEA Y Hotg A
2 200,000& x12& 2,400
-HICRSZ2S BHots M3
40,000 x12& 480
O3. A2 & HI KX HI 6,980
—TAISSAIAE SXZREH SEUH(FLYR)
1,600 *7004 *4CH 4,480
~CASSIAIE SA2el&dd =&
100,000& *5=& x5 3| 2,500
202 044 1,080 1,620 A B40
01 2L HI 1,080 1,620 A B40
O MEALFE Y]
60,000 *1H *3L x63] 1,080
206 M = dl 19,800 24,200 N4 ,400
01 X2 4| 19,800 24,200 A4 400
OJtz g cts 2e| X+ 7,200
-XHEE 20,000 «80m’ 1,600
& 10,000& *400% 4,000
-Hl 2 8,000 x200 = 1,600
OJt2ss L =4 YHills2HHE 2N 2,600
&= H 5,0002 x1004 23| 1,000
-& 2 M 88,0002 x100& 23| 1,600
O=2&H Ale 22 (328, 2=2)
2,000 5,000 10,000
301 YA 1,280 1,280 0
11 J|EtE A2 1,280 1,280 0
OsAAE 228 K34 1,600 %404 =20 1,280
401 A& H L 20l 160,576 200,720 £ 40,144
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AN RS0
HE: QAW S SYHS /LY - 4E)
el s xR EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 A& HI 160,000 200,000 A 40,000
OL& =8 ZHIIAY 30,000,000 =14l 30,000
OL2H stk A (=,+8F 2H 2
) 70,000,000& =14l 70,000
O23d HOAEE B3 A
10,000, 000& 14! 10,000
O8H SAAE S2EdE SHAY
10,000, 000& 14! 10,000
O28 =sXAE 2332 dFAY
10,000, 000& 14! 10,000
O2%E =sXUJAALE FHI (014 2)
30,000,000 =14 30,000
03 Al S HHI 576 720 A 144
O=sXZ=ZAE AL
160,000,000& *0.72/100%50%< & 24> 576
SN IFRI (XX SHH X2 )<E x> 69,509 110,123 A 40,614
= 35,355
< 10,246
Al 23,908
101 @14l 62,315 98,524 A 36,209
= 31,158
< 9,347
Al 21,810
04 JI2ZtHZ22HEE = 62,315 98,524 A 36,209
OMEHIOIQUALTEE o2
39,690, 000& 39,690
= 23,018
< 6,905
Al 9,767
O=0tRI| RHEAZALE o182 15,480,000& 15,480
= 7,740
S 2,322
Al 5,418
C4iEH IR S 55,170,000& x11.5% 6,345
O{HHIOIQIHA =S TSH(HYE=E228)
200,000 »4H 800
= 400
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04 J12ZtHZ22 s+ 48,368 47,426 942
QUM ER S=S=2(AES WAH) 24,307
-Jla=s 54,5003 10 x8 53] 21,800
-AHEE JI2RE3 21,800,000& *11.5% 2,507
OSHZANE RANE=> 10,209
A R==1 54,5003 6«7 x43] 9,156
A2 J22RE3 9,156,000& x11.5% 1,053
O=z el 13,852
-Jlg=a 51,7603 x»4H «60 12,423
A2 J&22Y3 12,422,400& *11.5% 1,429
201 Let24d] 29,520 23,760 5,760
01 At 22l 5,400 5,400 0




[z 02 ot

=t
PAMA YsH(sYhLL
24 TH of ol 2

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
O4.1l=H| 400
AT S2ER HU=(R, BE S)
-2 50,0003 8=t 400
O6. 94Xtz 5,000
-MEH SS=EF? ZFHLI(AES WA)
500, 0003 *2CH 53| 5,000
02 8323l 24,120 18,360 5,760
O1.2323LHA 21,120
-S&ZE HHEXE0 M3
80,0003 #2201 2 x 128 21,120
OS3. A€ &8l Xl 3,000
Stz ANIdEE=> 3,000,000& 3,000
206 M= Hl 8,000 8,000 0
01 = bl 8,000 8,000 0
Oouttg Mooy & S=S=+ A 2,500
-Hle 150,000 108 1,500
-4 2 538 10,0002 * 1004 1,000
OS2 NHHXEO0 22F 10,0003 «50H4 500
O=2d2e M& 5,000
-OHLHEH, 2t S EHOYANES
500,000 * 1094 2 5,000
401 A& BIZ 201 8] 601,890 70,315 531,575
01 A& HI 600,000 70,000 530,000
OSAZ HOAIEE B3 A
10,000, 000& * 14! 10,000
O=2d KA ALY 50,000,000& =14 50,000
OR/FALER (& 4) Ol S A 30,000,000& » 14l 30,000
OuEHHE S HAHAL 10,000, 000& 14 10,000
O2UXSdZ2~-2FL EYRAZE =4
500,000,000& =14 500,000
03 Al 20 HI 1,890 315 1,575
OA THOH Gl &H AN Al & 201 I
600,000,000 *0.63/100%50%<& 2> 1,890
A THOH 2 kel & OI(AFAMEH & 2o 2 e ) <8 &> 18,852 24,489 25,637
= 7,541
= 3,393
Al 7,918
101 1A bl 17,985 23,672 A5,687
= 7,194
= 3,237
Al 7,554
04 JIZHHZ2XNSE S 17,985 23,672 A5,687
OAFAIERSE E Ol e 21 Al 16,500, 000& 16,500
= 6,600
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LB (SPHSSL/YY - AE)

ot CERED

i 02 of
oV R U
=¥
S0 12
2
ol
ol

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2
==
£l
Ol
0y

H

2,970
Al 6,930
O4UEd JI22E3 1,085,000& 1,085
434
195
456
Oetd = 400,000& 400
160
72
168

zZ W

= 0 W

206 X = bl 350 717 A 367
140
63
147

= N H

01 = dl 350 717 A 367
=2 (BE, Ot S) 350,000 350
140

63
147

= HnH

301 LEE A= 517 100 417
207
93
217

= HnH

HEAZ 517 100 417
B ee ns&E&H 50,0008 *22! 100
40

= 0 H
@

42
OMAEIS RS DROH 4170002 *14! 417
167
75
175

=z N H

AH
(=]

o

o RASHAAMS<EE> 3,000 5,000 A2,000
o= 900
Al 2,100

401 AIEBIZ S CHYI 3,000 5,000 A2,000

900
2,100

= M

01 Al&Hd
Odezd Mol <= MAHAE

3,000 5,000 A2,000

3,000,000 * 14 3,000

= 900
Al 2,100

Bsazel(g+) 23,352 23,200 152

206 M= Hl 3,200 3,200 0

01 M= dl 3,200 3,200 0
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AN RS0
HE: QAW S SYHSY /LY - ME)
CHol: APEITHOH Ol CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OEs+ 2N ¢ ds58d 22H
50,000& 204 1,000
OB+ M8 sA(&SH, &2H )
30,000& »40H 1,200
OkH+= MM 50,000& 204 1,000
401 AIEHI L 2 CHYI 20,152 20,000 152
01 A& HI 20,000 20,000 0
Qussd 213 HAAML(SSHA, d>=
el) 5,000,000 »24! 10,000
Ok dolls X 5,000,000& »23l 10,000
03 Al 2 THHI 152 0 152
OBs2telAtd AlZ 2l
20,000,000& *1.08/100*70%<Z& 2> 152
Essel<EB x> 14,209 24,363 A 10,154
< 4,263
Al 9,946
401 AIEHI L 2CHEI 14,209 24,363 A 10,154
< 4,263
Al 9,946
01 A& Bl 14,057 24,232 A 10,175
OBz (= T2 Bl S2H)
14,057,0002 * 14! 14,057
< 4,263
Al 9,794
03 Al 2 THHI 152 131 21
OAIZ =TI 14,057,000& *1.08/100 152
Ote= 22 12,050 12,550 A 500
206 M= Hl 2,050 2,550 A 500
01 2l 2,050 2,550 A500
42 JUR L HHEYH 4R
50,000& 204 1,000
Obt2=AME SN2 XM 35,0002 *30H 1,050
401 AIEHI L 2 CHYI 10,000 10,000 0
01 A& HI 10,000 10,000 0
Ot FAZA2AMG (=2 M ANEES
el) 10,000, 0002 14! 10,000
#HSABH (L7 4YD)OIEHIIE) 65,270 60,060 5,210
JlEZ3l 65,270 60,060 5,210
SN2l 4,970 5,100 A 130
201 24| 4,970 5,100 A 130
01 At 22l 4,970 5,100 A 130
ORN2Y LB+l 3,640,000& 3,640
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2N HPALDED

M TZANEE 2 (+=83LuE/EZ)
S TZ2AEES |2 (&)
SA - ZE-B(EN) - NRAY - B S il &t o il RS2
CSce=a80 Sxe
600, 000& *3CH*203] 36,000
-8iHel Xdots ¥ &4EXeE =&4EH At
=3 1,500,000& »2CH 13l 3,000
-“CAARXE EAEH Xz
450,000& *2CH *23] 1,800
02 =224l 55,732 35,332 20,400
O1.3322=ZLHA 26,400
-8Hel Kot ¥ A4ZX6tE JedE &Iz
800,000 24 A x12& 19,200
STRR4 NS RMENY 2B23
50,000 40 122 2,400
-E2 @ MEFH ¥ dlies 2 238
400,000 x12& 4,800
OS8. A€ &I Xl 20,700
-Xs HESe 2 3F sz
8,500,000 8,500
-EAZ 2 (EST) Ed01E
600,000& = 127K 7,200
-HEEH(SHs X&) A2
5,000,000 5,000
O4. Xt & el 8,632
-st2(HE) 7,432,000 = 1CH 7,432
-HEEE OlsAl S| sl ¥ A
600,000& »23] 1,200
202 odl 5,040 5,940 A 900
01 = LH YI 5,040 5,940 A 900
OALHHAD Z O H|
60,0003 *4H 32 43| 2,880
Oz FAHYI
60,0003 *6H x32 +23| 2,160
206 = Hl 102,000 102,000 0
01 MHZ 4l 102,000 102,000 0
OzZE+3 g7 ¢ 2,000,000& 2,000
OZ2ANEE EXH 2 100,000, 000& 100,000
301 et a3z 41,236 36,954 4,282
0B M ELRIBHS 41,236 36,954 4,282
OMII =SR2 (NAxE L FMAT) 41,236
-Jlga 195,000& x8H x12& 18,720
-S4l 7,0003 «8H 22 128 14,784
- sl 2,6003 x8H 22U x 128 5,492
-0l =Hl 140,000 »8H »23| 2,240
401 AIEBIZ 28I 2,302,789 2,345,897 243,108
01 A& Hl 2,297,000 2,340,000 A 43,000
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2N HPALDED

M CRANES 2e(+SLUWE/E2)

S TZ2AEES |2 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OANINEZ SXNE= 700,000,000 » 14! 700,000
OFZaesHEZ RAES
600,000,000 =14 600,000
Ol o= | 100,000, 000& * 14 100,000
Ozl E2% HXE HHIZA
100,000, 000& * 14! 100,000
OANIHAHDIE F A== FHISA
50,000,000& =14 50,000
OAl2 - DEHAHOE OlsAHel EHES
@ FAAEE & 90,000,000& =14 90,000
OZE4d HEEZ=Z =0IMEE XA
75,000,000& » 14! 75,000
O4lhs & 5= NEANETZ EHHISA
50,000,000& =14 50,000
Odlis 2 24 fHEHSNZelH £XS
A 100,000, 000& * 14 100,000
OUEY MU Uadxzn & IMRI| S A
80,000,000& =14 80,000
OsdlH ANTlesd =AFH SA
60,000,000& =14 60,000
ORAES 24l 3MA: TAHEETZE IM2
I SA 50,000,000& =14 50,000
OFREZ &F22 AZ15H TMR2I] S A
30,000,000& =14 30,000
O2AEE EH6el TAANEZZ IHNRI| SA
25,000,000& =14 25,000
O2AEE 2H4el TAANEEZTZ IHNRI| SA
50,000,000& =14 50,000
O=0I=% o2 HHISA
50,000,000& =14 50,000
OFEs FEFeXNF &2 IMRI| SAM
80,000,000& =14 80,000
Odg Sdel S2ARY HId SHdz o
2 7,000,000& x 14 7,000
03 Al 2 THHI 5,789 5,897 A 108
OE2ANEE sAZe AE2U
2,297,000, 000& x0.36/100%70%<& 2> 5,789
SE2ANEE FRN2A2U<ED> 271,361 70,315 201,046
< 130,000
Al 141,361
401 AIEHI L 20 271,361 70,315 201,046
< 130,000
Al 141,361
01 A& Bl 270,000 70,000 200,000
Oaths == HHMSA
150,000, 000 14 150,000
< 70,000
Al 80,000
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2N HPALDED

M TZANEE 2 (+=83LuE/EZ)
S TZ2AEES |2 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
OsZel s B ZA
120,000, 000& * 14! 120,000
< 60,000
Al 60,000
03 Al S THHI 1,361 315 1,046
OSZANEE X2 AIE20UI
270,000,000 0.72/100%70%<Z& 2> 1,361
ANES2el 1,446,654 631,433 815,221
101 1A Hl 14,545 12,910 1,635
04 JIZHHZ2XRHEE S 14,545 12,910 1,635
OL2EFE gREX 14,545
-Jles 51,7603 x2F 202 «5& 10,352
-=FE 51,760 x2H *x21F 2,174
-AARSFIE 51,7603 »2H x5 518
-AHEE JI22RE3 13,043,520& *11.5% 1,501
201 L2l 10,298 8,994 1,304
01 At 22l 5,688 5,016 672
Ot. 42| 3,000
~NESRe Y99 YPASH 2,000,000 2,000
REMYR U WA SHELE
1,000,000 1,000
05.3 4| 2,688
NEEREDEEES RS =N
7,000 48«8 « 122 2,688
02 2324gHl 4,610 3,978 632
OEZ2HESZ IDIAN £ 2B 4,610
-S| 1,930& x2,0003 3,860
-85 300& »2,500= 750
202 04l 1,440 1,620 A 180
01 = LHA Yl 1,440 1,620 A 180
OA&ES2el gRF2 ol
60,0003 *4H 32«23 1,440
401 AIEHI L 2] 1,420,371 607,909 812,462
01 A& Bl 1,416,800 606,000 810,800
OBUS(SXNH)RXES 230,000,000 * 14! 230,000
OZUunzg I8 849 15,000, 000& *23l 30,000
Ozl n&d FALE= 200,000,000 =14 200,000
Oddn §ddd 32,000,000& » 14! 32,000
O&Eoty L& Z 28,000,000& =14 28,000
OU&EDIIW RJ|Xxz2 HUHA
12,800, 000& 14 12,800
OM3M HE 3234 17,600, 0002 14! 17,600
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2N HPALDED

HM: T2AEE 2el(=3
g2l TRAEE RA2L

4
o

NE/E2)

0
bl

- _ _ RE]
SA - H .G (3AH) - MBAY - BES %Eﬁ HR=2
odeot20e 3udEd 45,600,000 1A 45,600
Ol 3L A 36,000,000 = 14! 36,000
Od=n oA 23,200,000 14! 23,200
Ooelgdn 3adEA 27,200,000& x 14! 27,200
Ooga20e 3eEd 36,000,000 14! 36,000
Ojxaatm HYUOHM RIS 112,000, 000& x 14! 112,000
OKAdEHZ N HUOHM A CH 43,200,000 14! 43,200
OKUESH T D HUCHM A CH 43,200,000 «1A! 43,200
OZ A2 JHHI =2 A 200,000,000 « 1Al 200,000
OME AW OFXl & ZA 300,000,000 1Al 300,000
03 A& E2HH] 3,571 1,909 1,662
OANMEZ FX&el AIE2UH]
1,416,800,000& x0.36/100%70%< & 2> 3,571
THEHTHOH O EH (22 E A L OHA /T LS TH - B18k2]) ,327,913 2,161,484 1,166,429
2 2,250
Xl ,099,000
= 56,955
Al , 169,708
MAS=ol KNS ,291,501 2,084,562 1,206,939
N 1,099,000
= 50,000
Al , 142,501
A ot&E A H| 962,238 254,466 707,772
201 LBt 9| 866 866 0
02 2=2=24%4| 866 866 0
O1.2Z22=22L Al 866
-ASld EE22 DA &E2HR2 866
=Pl 1,930& 20021 386
T BE 300& *1,60024 480
202 o4l 2,160 2,700 A 540
01 2Ll 2,160 2,700 AN540
OMutze M2 & Ht2Aeg2=X ol
60,0003 »3H 3 x4 3| 2,160
401 A& HI L 20l 959,212 250,900 708,312
01 Al&H| 955,000 250,000 705,000
OB A51F A& RNES
50,000,000& = 14! 50,000
O2LA HAHAE S8 HUNNC A
25,000,000& = 14! 25,000
OFREL o812 =& MUZBA
50,000,000& = 14! 50,000
OFREL MU PEHEA HUZA
30,000,000 = 14! 30,000
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N ERALnSH
FH: NN (SSEM L /TS - 2129])
el M XINA (ol m2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Os0I= ZA3El B SHEHISA
50,000,000& =14l 50,000
OFI M&E1E HIZE2E SHFHI S A
50,000,000& =14 50,000
OFJI| &Xel et=ad SHEHI S A
70,000,000& =14 70,000
OFJ &Lxe| dEA SOHHHIZSA
70,000,000& =14 70,000
O¢Y stdA SHFEHISA
300,000,000 =14 300,000
O¢Y &Sstd SHEHIZ A 80,000,000 * 14 80,000
Osol XA S HI S A
70,000,000 » 14! 70,000
Osolf Zatd S HEHIZ A 70,000,000 * 141 70,000
OSdl Xt*d SsDSA
40,000,000& * 14 40,000
03 AIE 2 THHI 4,212 900 3,312
AGHE ZHl AIZ =0
955,000,000 *0.63/100%70%<& 2> 4,212
A0t EH (M )< x> 2,201,957 1,803,240 398,717
Xl 1,099,000
Al 1,102,957
401 AIEHI L 20 2,201,957 1,803,240 398,717
Xl 1,099,000
Al 1,102,957
01 A& Bl 2,198,000 1,800,000 398,000
Olis Zsd HHIZA 948,000,000 = 14! 948,000
Xl 474,000
Al 474,000
Oy etdd HHIS A 1,250,000,000& 141 1,250,000
Xl 625,000
Al 625,000
03 Al 2 THHI 3,957 3,240 7
OActEIHI(ME) AIE2UYI
2,198,000, 000& x0.36/100x50%<& 2> 3,957
Gt THoff Ol 2 26,856 26,856 0
201 et Ayl 14,856 14,856 0
01 AP 2teltl 10,616 10,616 0
O1.det=2Hl 3,600
Xl X THOHCHZH AR DI Eb==ZHI
3,600,000 3,600
O5.2 &l 2,016
S HREFE AAA2ZEN =4
7,000 3«8 128 2,016
O6.2xt=z 5,000




SN GPALDED
A U AL (BBENLOE /T LT - 01)

el M XINA (el mel)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
-MoHHH S S EH dX=
500,000 x2CH x5 5,000
02 2224 4| 4,240 4,240 0
O3. A& & HI KX HI 4,240
-THOHCHZH =D R AI22lH] 100,000 *20CH 2,000
-ARXIIEE FERH(FLYSR)
1,600& x20¢ *35CH *23| 2,240
206 M Hl 12,000 12,000 0
01 X Z HI 12,000 12,000 0
O=&XM 22 (PPEOS) 12,000,000 12,000
KA THOH Off & <2 &> 100,450 0 100,450
< 50,000
Al 50,450
401 AlEHIZL £ 0HY| 100,450 0 100,450
< 50,000
Al 50,450
01 Al&H| 100,000 0 100,000
Osdl £&tee] =2A S oHEHI B A
100,000,000 =14l 100,000
= 50,000
Al 50,000
03 AlE 20| 450 0 450
O=dll &8tee] M2A SHEHIBAF AIEZ2
gl 100,000, 0002 x0.90/ 100+50%< & 2> 450
olgre & UsSHA 25 36,412 76,922 A40,510
= 2,250
& 6,955
Al 27,207
ISR e ¢ &4 9,420 10,370 A 950
201 LBt 9| 5,620 5,370 250
01 AP 22| H| 5,620 5,370 250
O1.d8t=2H| 3,380
-2A9s 89 H& 580
c e 300, 000 =174 300
= 70,000& *4JH 280
-SANYE SEAEA A
1,000,000 =104 & 1,000
-olgtuns EFAHAE MEH 802! x10,0000H 800
OIS AHEALA2E XA |2 10,000& 1005 1,000
O5. 24| 2,240
-SAHE SEHAEA L AANRN 2RA 2
Al 7,000 x80H x4 3| 2,240
301 et A= 3,800 3,800 0
08 MBI EXRRIBAZ 3,800 3,800 0
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2N

gRALunsH

FH: NN (SSEM L /TS - 2129])
Sl DS 2 HSHH RS CERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
OANSERA MlBES 50,000& x60H 3,000
OMI=ERREY S27E s FAL 244
2,000& 100 =43 800
=0 &N A0 sXNIA<E > 4,659 46,416 ANA41,757
< 930
Al 3,729
101 14l 4,659 46,416 ANA41,757
< 930
Al 3,729
4 D12t ZE2EXNSEES 4,659 46,416 ANA1,757
O==0| ¢t XA0| elAdl
51,7603 1H*90 14 & 4,659
< 930
Al 3,729
=0 eHEAE AX<EXE> 9,333 7,136 2,197
< 2,800
Al 6,533
201 L2l 9,333 7,136 2,197
< 2,800
Al 6,533
01 At 22l 9,333 7,136 2,197
O1.28t=&H| 9,333
250 AHHALE 257 9,333,000& 9,333
< 2,800
Al 6,533
QHRAUESETHLA=E<E D> 5,500 5,500 0
< 1,650
Al 3,850
201 LBH2d| 5,500 5,500 0
< 1,650
Al 3,850
01 At 2t 2l 5,500 5,500 0
03.2g8=¢ 5,500
R uEssdE LAY 100,000& x55H 5,500
< 1,650
Al 3,850
YA WESHHIKEX> 7,500 7,500 0
= 2,250
< 1,575
Al 3,675
201 £B-2%H| 7,500 7,500 0
= 2,250
< 1,575
Al 3,675
01 At 22l 7,500 7,500 0
03.28=¢ 7,500

_73_




SN HPALDE

M THHTHHH (23

ool g & HESHA

SN FE - EA(SA) - MRAY - BES il Bl RE2
-l = ZAM=Z  150,000& x50 7,500
= 2,250
< 1,575
Al 3,675
HY2FZH (g DH) (D1 EH/DIE}) 540,837 547,921 AT,084
= 46,000
Al 494,837
el 2 469,493 490,097 A 20,604
< 46,000
Al 423,493
AEoALY 48,150 42,976 5,174
101 124 dl 48,150 42,976 5,174
02 J|EHA 48,150 42,976 5,174
OAl2t HSINH(OHS: =8aex) 47,274
- 20,177 ,500& »2H x32/40 32,284
-Al 2t 4,2583 2 x10A| 2t+ 128 1,022
-bE 1,800
40,0003 x1H « 128 480
20,0003 x»4H 128 960
30,0003 x1H =128 360
= 105,000& 2% 128 x32/40 2,016
-3 130,000& »2H «12& 3,120
-cHel 50,000 «2H = 12& «32/40 960
-0
1 53 *2H x84%*86%*1/30%1/6.4*100Al 1,013
2t
~4T4 2 43,991,000 11.5% 5,059
O=HY EETH Y OIH IS 876
22 130,000 »2H 23] 520
-k et 130,000& »2H 260
-2X 8,000& 2H 16
= 40,0003 »2H 80
fNE2Y 421,343 447,121 A25,778
< 46,000
Al 375,343
101 @124l 421,343 447,121 A25,778
< 46,000
Al 375,343
03 S A 421,343 447,121 A25,778
OEzE= 414,688
-Jles 1,368,600&*11H x12& 180,656
< 46,000
Al 134,656
-4 1,368,600& *11H x400% 60,219
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SA: HTALDED
H: HH2IAH(ZRALE R SD)(IIEHIIE
Helr g2
S BB (BA) - MRAY - BYS il
-HE St 1,368,600 *11H x120% 18,066
-G xt=g 77,6303 x 112 «18 15,371
g+ 40,000 x11H «123 5,280
-t EE 80,0003 x11H «12& 10,560
-HHZ A 130,000& 11H ~12& 17,160
250 =S 38,3402 x11H 12 5,061
-d22sd 1,368,600 112 x35%*22] 10,539
-2HAH| 50,000& x11& 123 6,600
-l 50,000 x11Z «12& 6,600
-5222==Y 77,630 11F #150%+22 « 128 30,742
-MESHEXE+E 465, 3303 x4 x4 3 7,446
-pHENesg 100,000& »1H «12& 1,200
- S22 x| 70,0002 x 11«12 9,240
-0fAU2RY 9,710 * 11 «50%*20 Al 2+ 1,069
-NEsE 1,368,600 112 * 122 «10% 18,066
-HEZRsY 9,710& 118 »150%*60 Al 2+ 9,613
-NH2AEHS = 50,0003 x2H 12 1,200
OkzE=¥d H=H| 6,655
-HY= 130,000& 11 »33| 4,290
-get=s 110,000& 11 1,210
-2 10,000& 11 110
-& 3 15,000& 11 165
-2 10,000& 11 110
—-oHM 3} 35,0003 11 »23 770
=38l 71,344 57,824
S A2 7,204 7,204
201 L Et2A | 7,204 7,204
01 AL 2l 7,204 7,204
ORMEY dit=EH| 3,940,000 3,940
ORN=2ZE =& 1,680,000& 1,680
OSA gXt&z 132,000 ~1CH+12& 1,584
SRF=AAH 59,940 46,020
202 o4 Hl 59,940 46,020
01 S LHOYI 59,940 46,020
OFYRF 20,0002 «18H 13« 128 56,160
OUZSUHEZFA bl 20,0003 »21H x3L +x3& 3,780
=EES 4,200 4,200
203 ¥R =&l 4,200 4,200
EVECTEEST 4,200 4,200
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AN gRALUS D
M HH2IALH(ER AL S0 (JIEH/IIE)
¢l =gl (chel & 9l)
. = . ShE
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
-/

ORNSLERFIHI(F A :24Y)

350,000& =128

4,200
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SN ERAS Y
g

H: CANY L AS2(2ELXNIMNL/XSL Al
Sl AZHTO A5 (ol @)
SA - BB B () - MM - BES Ol &t o San HmEET
201 Le-2d| 18,932 19,090 A 158
01 At 22l 18,932 17,932 1,000
O1.get==2Hl 12,200
~REHINAEE NTHEAD JIE+ B Y|
2,700,000& 2,700
SEEASS Y o Ha0 HN
50,000 * 164 2 800
-HAEEH OE ASHOII2 HMeldl
20,0002 »100& 2,000
-Ro0tA=E= B0 &EH ¥
20,0002 x 10 x5 1,000
-RAFIHE SHWE M 30,0002 10000 A& 3,000
~SHOAUDET AUAEH 2,700,008 2,700
Ob5.= &l 4,032
AEXNE HRFA AIZA2Z2 2RI =24
7,000 3«8 128 2,016
CEEHDAADEA AAADDN B4
7,000 3«8 128 2,016
O6.2xt=z 2,700
THHERHE L PEHIAES FAZY Y
NI 450,000& »2CH 33 2,700
202 Oddl 4,320 5,400 A 1,080
01 = LH 4 1 4,320 5,400 A1,080
OAHFXNEHRFE Kl
60,0003 *3H 3 43| 2,160
O=SgoAAALEA 04|
60,0003 *3H 3 43| 2,160
402 RI2EX=01 M 55,000 55,000 0
01 2IZEH 2 A B (KM ) 55,000 55,000 0
Os0HE B3 750,000& x20S 15,000
OsdolE XNsaHA K& 2,000,000& »20= 40,000
DAMOLE QAN 2H 49,622 181,097 A 131,475
A=HF QIFAMNMHIA HZB 49,622 181,097 A 131,475
101 @124l 34,632 17,213 17,419
M4 II2HZ2E2NSES 34,632 17,213 17,419
OEXOEHEAA L5 17,316
-Jl=3 51,760 *4H 202 «3& 12,423
=g 51,7603 x4H «12=F 2,485
—ANRSF Y 51,7603 »4%H 3 622
-AHEE JI2RE3 15,528,000& *11.5% 1,786
OASSHY RS Fol L SII5E 17,316
-3 51,7603 x4H 20«38 12,423
=5 51,7603 x4 x12F 2,485
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AR Rt e )y
MM CANY L

= =
CHSl: DAOIE DM 2 CER-ED

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
-Hsa3EE 51,760& x4 3 622
A28 JI2R2E23 15,528,000 *11.5% 1,786
201 Bt A | 3,600 153,600 A 150,000
01 At 22l Yl 3,600 153,600 A 150,000
O1.dbEtx=2H| 3,600
-AS0AF? JIEt+=E2H| 3,600,000 * 14 3,600
301 dEtE A= 11,390 10,284 1,106
0B AMI=RLAENZ 10,732 9,556 1,176
OMII=ERRA 10,732
PAR=t=1 195,000& x2H 128 4,680
-S4l H| 7,000& x2H x22A x12& 3,696
-S| 3,400 x2H %222 x 128 1,796
=il 140,000& 2 *23| 560
09 HALAHIBEA= 658 728 AT70
OASVANGA 29 B4l 7,000 28| 475 658
HHSHAH (LR ASIIt) (JIEH/IIE 66,664 58,504 8,160
Jl=23& bl 66,664 58,504 8,160
SEANSGHI 6,364 6,364 0
201 et A | 6,364 6,364 0
01 AFR2 2t 2l dl 6,364 6,364 0
ORANEY dBtx=2H| 3,450,000 3,450
ORNME2d S| 1,330,000& 1,330
OsAI| Xtz 132,000& = 1CHx12& 1,584
HR=X0HI 56,100 47,940 8,160
202 0db] 56,100 47,940 8,160
01 2LHOHI 56,100 47,940 8,160
OFIF =0 20,000& *17Y9 13 x12& 53,040
O/EZ2NS 22X 0dHl 20,0003 *17H *32 x3& 3,060
AR =& 4,200 4,200 0
203 &R =&H| 4,200 4,200 0
04 EANSHLRF=AH| 4,200 4,200 0
ORNSYIR=AHI(HE:19Y)
350,000& x12& 4,200
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